


Percent - Fraction - Decimal Landscape of Problems VI
Word Problem Types
3 Dimensions: Objective, Application, Number Variation

VI. Add and subtract decimals 
	
	Decimals same “length”
	One decimal (especially, in subtraction, the minuend) is “shorter”
	Decimals have (at least one) embedded zero.

	
	1.23 + 4.56
	15.23 – 4.567
	9.2052 – 4.067

	addition: join

	Addition join means that the resulting amount is found by adding the changed amount to the starting amount.
	A piggy bank has $13.97 in it. Becca adds $1.43 in. How much money is now in the piggy bank?
	Steve, Bill, Jack and Kevin ran the 4x400 relay. Steve ran it in 45.2 seconds, Bill in 48.34 seconds, Jack in 46.33 seconds and Kevin in 44.55 seconds. What is Steve and Kevin’s time together in minutes?
	Joe’s first score at his diving competition totaled to be 40.35 points. On his second dive, Joe received a score of 37.405. What is Joe’s total score at the competition thus far?


	addition: part-part-whole
	Part-part-whole means that we are adding 2 parts to find the whole amount. 
	If Karen has $1.45 and Wanda has $2.73, how much money do they have combined?
	JC Penny is having a sale, all T-shirts are $5.45 and all jeans are $7.35. Jim buys two T-shirts and one pair of Jeans, how much money will Jim spend?

	Greg and Charlie both walked to Wal-Mart. Greg walked a short path which equaled 6.309 miles. Charlie took a longer route which equaled 7.046 miles. How far would Charlie walk total if he took Greg’s route home?

	addition: comparison
	The two givens are an amount and how much more another amount is compared to the first.  Find the other amount.
	James and Travis raced their cars on a track. James finished the race strip in 9.59 seconds. Travis was .43 seconds slower than James. What was Travis’ time?
	Nick ran a 1 mile in 4:35.42 and beat the school record by 11.2 seconds. What was the previous school record?
	Corn Products International Inc.’s stock opens at $47.09 a share. It closes at $47.65 a share. How much did CPO’s share increase?

	Subtraction: take away
	Take Away means you are subtracting the amount removed from the starting amount.
	Jessica weighed 147.3 pounds last year. Since then, she lost 12.8 pounds. How much does she currently weigh?
	Sarah and Katie both competed in the long jump. Sarah jumped 13.5ft and Katie jumped 
15.34ft. How much farther did Katie jump than Sarah?
	The national debt in the United States in 2002 was $6.406 trillion. The debt in 2000 was $5.662 trillion. How much did the national debt increase?

	subtraction: comparison
	The two givens are an amount and how much less another amount is compared to the first.  Find the other amount.
	Sam burned 439.6 calories biking 14 miles one day. The next day she burned 536.3 calories running 4 miles. How many more calories did she burn the next day? 
	Hank’s first car got 25.32 mpg. His new car gets 28.8 mpg. How many more miles per gallon does Hank’s new car get?
	Michele plays a video game on Xbox live. Her kill/death ratio is 1.146. Her friend Kaitlin’s kill/death ratio is 1.504. How much better is Kaitlin’s K/D ratio than Michele’s?

	subtraction: completion
	Completion is taking our given amount and finding out how far we are from reaching our goal.
	The shirt that Christine wants to buy costs $25.50. She has $13.25 saved up for it so far. How much more money does she need to save in order to buy the shirt?
	Brian’s fence is 32.65 feet long. He has 10.125 feet of it painted already. How much more of the fence needs to be painted?

	Garrett’s charity donation set a goal to raise $8 million dollars. They are currently at $5.807 million dollars. How much more money is needed before they hit their goal?

	subtraction: missing addend (part-part-whole)
	Part-part-whole is taking our total amount and subtracting one part to find the other part.
	There 8.5 cookies on a cookie platter at a party. There are 5.5 of them that are peanut butter. How many cookies on the platter are not peanut butter?
	There is 15.24 inches of wrapping paper. Amanda uses 8.2 inches to wrap her gift. How much of the wrapping paper is left?

	Christine’s gas tank is on empty. She knows that her tank holds 13.1 gallons of gas. When she goes to the gas station to fill up, the gas stops pumping when the screen reads 12.603 gallons. How much gas did she have left in her car?
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